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Answer Question No. | which is compulsory and any two guestions from the rest of section I.

(a) Answer the following:

(1)

(ii)

(i)

(iv)

(v)

Deductive method is also known as
(A) Hypothetical Method

(B} Abstract Method

(C) Prion Method

(D) All of the above

An individual demand curve slopes downward to the right because
(A) Income effect of fall in price

(B) Substitution effect of decrease in price

(C) Diminishing marginal utility

(D) All of the above

Normative science deals with
(A) What ought to be

(B) What is

(C) Individual Consumption
(D) All of the above

Marginal cost is calculated as
(A) ATC/Aoutput

(B) TC/output

(C) AC/output

(D) None of the above

Under no profit, no loss situation in perfect competition, the firm earns
{A) No profit, no loss

(B) Normal profit

(C) Negative profit

(D) None of the above
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(vi)

(vil)

(v}

(ix)

(2)

In foreign trade invisible items are included in
(A) Balance of trade of account

(B) Balance of payment account

(C) Reserve Bank of India Account

(D) None of the above

In a kinked demand curve in oligopoly:

(A) The sellers cannot increase the price above the kink because the demand is elastic
(B) The sellers cannot reduce the price below the kink because demand is inelastic
(C) The sellers stick to the kinked price

(D) All the above

NABARD is the apex body in the sphere of
{A) Foreign trade

(B) Urban development

(C) Agricultural and Rural Development
(D) Public finance

In a Market Economy factors of production are owned:
(A) By the society

(B) By the government

(C) Privately

(D) All the above

(b) Fill in the blanks: Ix12
(1) Deposit multiplier depends upon ratio.
{(ii) GNP is the of all final goods and services produced by domestic sectors in the

(i)
(iv)
{v)

(v1)
{vii)
(viii)
(ix)

(x)
(x1)

(xii)

country in a year.

Fisher's Quantity Theory of Money is also called
JB Say’s Law states that ‘Supply creates its own 4
In case of perfectly demand, a slight change in the price will make greater

change in demand.
A central bank has monopoly over
The rate of interest charged by the central bank is called the

‘When the quantity supplied of a commodity rises with a rise of price of that commodity, other determinants
of supply remaining unchanged, it is known as

Law of variable proportions applies in the

Direct taxes do not lead to price

About four decades ago a new international money known as was created by
IMF. :
Specialisation on the basis of comparative advantage to obtain foreign goods more cheaply in terms of

real resources forgone than




b
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(c) State which of the following statements is true and which is false: 1x9
(i) Industrial Development Bank of India is an investment bank.
(ii) The scope of balance of payment is wider than balance of trade.
(i) A country is said to be under populated when optimum population is more than the actual population.
(iv) The law of demand operates in every situation.
(v) Quasi rent is earned from land only.
(vi) The law of variable proportions operates in the short run.
(vil) Average cost is equal to AFC + AVC.
(viii) A producer may keep on employing workers so long as marginal cost is not more than marginal revenue.

(ix) Land includes not only the surface of the earth but also includes every thing beneath and above it.

(d) Define the following terms in not more than two lines: 1x6
(i) Cannon of Economy
(i1) Fiscal Policy
(iii) Human Capital
(iv) Deposit Multiplier
(v) Increase and decrease in demand

(vi) Expansion and contraction of demand

. What'is meant by Economic Growth? What are the components of Economic Growth? 12

What is Capital Formation? What are the steps involved in the formation of capital? 12

Discuss the theory of Demographic Transition with its different stages. 12

Secrion 1I (40 Marks)

Answer Question No. 5 which is compulsory and any two questions from the rest of section II.

(a) Answer the following: 1%x6
(i) Proxy has the following connotations:
(A) One
(B) Two
(C) Three
(D) Four

(ii) Semantic barrier to communication is referred as the
(A) Receiver misinterpreting the symbols used by the sender
(B) Sender misusing the symbols
(C) Receiver clarifying the symbols with sender
(D) Receiver not being able to decode the symbols used by the sender
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(iii) Bulls are speculators in a Stock Exchange who are also called
(A) Mandiwalas
(B) Bears
(C) Tejiwalas
(D) Stock operators

{iv] Which of the following is a feature of Joint Hindu Family (JHF) business?
(A) Unlimited Liability
(B) Can be registered under the Companies Act, 1956
(C) Only male members can be coparceners
(D) This is a principle against relationship
(v) Mention which of the following are not counted in a private limited company to make the maximum
strength of members to 50:
{A) Present employees and shareholders
(B) Past employees and present shareholders
(C) None of the above
(D) A and B both

(vi) Demerits of state owned enterprises are
(A) Inefficiency
(B) Political interference
(C) Redtapism
(D) All of the above

ib} Fill in the blanks: =6
(i) In alimited liability company, it is the members whose liability is and not that
of the company.
(i1) Memorandum of Association is one of the basic of the company.
(1ii} Without requisite a meeting cannot be held.

(iv) Board Resolutions are of two types, ordinary and a
(v) Statutory meeting is held after one month but within six months of obtaining the certificate of

(vi) A foreign company is a company according to the Companies Act in India.

(¢) State which of the following statement is true and which is false: ' 1x6
(1) The shareholders of a company are the co-owners of the assets of the company.

(ii) Where B Ltd. and C Ltd. are subsidiaries of A Ltd., B Ltd. holds 30% shares in D Ltd. and C Ltd. holds
25% shares in D Ltd. Thus, D Ltd. is a subsidiary of A Ltd.

(iii) A minor can become a partner only in an existing firm with the unanimous consent of all other partners.
(iv) A share warrant holder is not treated as the member of that company.

(v) A saleis not made at the counter or by a salesman, it is made in the mind of seller.

(vi) A Stock Exchange does not deal in the securities of public limited companies.
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(d) Define the following in not more than two lines: 1x6
(i) A company limited by guarantee
(ii) A partnership firm is not a legal person
(iii) True test of partnership
(iv) Perpetual Succession

(v) Government company

(vi) Arbitrage
6. What is a stock exchange? Discuss its functions. 8
7. Write a letter of regret to one of your customers showing your inability to execute the order. 8
8. What is an Extraordinary General Meeting? By whom it may be called? 8
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g I (60 3F)
Ty e U A ® 991 39 @S § - HE 2 WY F
(31) Frefafas & 3ot fsu:

1%9
() T el s s @
(30) wicad Woel & ®9 §
(&) SRl ¥ Y=
(®) v g {fd & w9 F
(@) 394 O+ft & w9 A
(i) T st | @ gt AR A9 gl & Fih:
(31) Hed | FHHl & T THE & HR0
(@) qed 9 H41 F ufoeers 99E & SRl
(|) HEFT GIHRT STAITT 319 & R0
() ITHF |t & FRW
(iili) e Horw foum wwiaa g §:
(30 = & A el
(@) TN
(W) =AfFaTa 394 |
@ 3w a4
(iv) famia @ S T % g
(30) AFET TITA/ASCITEH
(@) Fel T/
() 3T AT/

(@) wwe & i e



(7)
(v) o wfeafman % sr=wfa, = o, T ofa =t ofifefs 4 o o st @
(30 T &m, T8
(@) T T
(@) TFERIES o9

(@) o 4 A = A
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(vi) fearuht =amam # argyg w2 <ig ot &
(37) =R 99 G\ o
@) YaE i En
@) fod ¥ #iF gfvem & @@ §
@ I § | Fd

(vi) SAeUiywR & o g amas |
(31 fashan e 1 fohep famg | 99 & @1 wab iife mim wir=en @
(=) e e =1 T farg & <19 71wy wahen wiifer wim AeiraeR 2
@ TFm e wferwa t
(%) ST |t
(viii) e fora & vind deen #
() Toreit =M
(@) T fawm
(®) Ffa & wrro e
(@) ufeTs T4

(ix) T A Aefeqary ¥ IS & W W @i e R
(3) TH +

(@) HEHR F
‘)RR

@ v Tt =
(7) F=a = vid:

(i) ST TR A W At w8 1

(i) 29 | &l gro va A & Iewfed 9 aif amA vE gewedt & F gl
T T FEd 1

(i) ToReR % 7= & urn fogra =
(iv) S F % Fre = ¥ 5 amgfid et

1=12

F 9 Y +ft 5 S B

=4 94 o #)
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(v) o i Ft feufa 4, gea 9 gew w ofteds o 9 sfus wfea w5
(vi) FER dF R I THTFR T
(vii) F51a ¥ gR1 TgS S el = S W w5 1

(viii) YA F o1 v fer T8 W oE U o H rgfd Ft TR A ee o & es | 9fs i1 ¥ wy-wy
wad & @ Fed o

(ix) REd=sier sl = fram # Fr & #)
(x) Woas = Yed T Fd |

(xi) TV 9F &9 g4 AE.TA.UE 7 A T Fprg e o b fwan

(xii) TETT o % 2R v ferdndterror & faRelt axqu areafes davA i gfe |
# FAEn s v e ¥

(7) =g fer 8 A SF-w Y7 v a9 FE- e eEd € 1%9
(i) WRdra it faem d« ws fFevs 3% 1
(i) g 99 = &7 =R § siftes fawga €
(iii) T ITIpETT SEE TRt W ¥ wfus @ @ 36 2w A e seEen awen 20w
(iv) | = frm wit fifediEt & o @ &)
(v) @-oH Sae yin s w e &
(vi) ftEdeiter srawt =1 frem segwe § o) am T
(vii) siea feer e + sl wfedie @rd % 9m #) 2w @a w89 €
(viii) TF INEF F 79 7F TG ) Wl G § T 7 SH S0 H@Ae S E S T 9 S
(ix) W H Fae i 9 S0 9@ @ T S 9 st 3 SR feum i 3@ wfinfer #1

(7) Froifes w=di =1 sifusay < dfedt F we Fifed: 1%6
(i) fameafom = fagr;
(ii) farsira =ifa;
(iii) AP
(iv) 1 T[T
(v) = 4 gfa AR F4;
(vi) | # fawaw @ik 9599



(9) CAT-3(EBF)
2. i famre & @ s 82 anfide faem S aes aR A &2

3. it o = @7 Ot Foodron & SR—m A o de ¥
4. SHifwHRME gwaor % fagra i suE fafv= smenst vfea goamd

12
12

12

|vE 11 (40 3iF)
T e e A i w EE Y R FE 2 v B

5. (%) =1 =1 s e
(i) weelt & a7 9 ¥
(¥) @
@ &
(@) =
@ =R

1x6

(i) Teifes g aelivs = ot 2
() WEeHdl B 9 A6t g WA Rl T w3 = e s freern
(3) W1 AR BRI ST T WE
(®) Vgl g0 Hahal S US Ay § T w0
(%) WrHeRal BT W Al g WA fRd T wEE @ v 7 frene o

(iii) = = fafmma S 4 ' qa" 9 geea™ B & o = o 3
(%) w<amen
(@) =3
(|) ditaren
(@) =Y §uew

(iv) 7= A & et o dge feg wfan = i fadea 12
(30) st e
(@) ¥ FrE TR 1956 F A=ria g Qv &
(@) *aet 7&0 o @ 9= @ g €
(®) T o=l ¥ fovg o fagra @
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(v) =ared =1 A & 3w feit et & wewdt 9t sifeas g 50 F =€ firn s #2
(#) FowE FHER AR S
(@) YA FHER IR T s

@) g 4 @ = e
@ IR wsit

(vi) TER @iy arelt deasdi & <m 2

() SFHET
(@) TSHIfaeH Teaey

(¥) el Fraremet
@ W= i

(=) fioa wrt =1 wfd: 1%6
(i) = ifva efaa st 8, swivfat = afas Bren & 7 o et @50
(i) e Hofam S = SRE 14
(i) TF 91 a1 savEs F weIfed TEt = wewdt 1
(iv) oS = EFeT ) TER F W B, W iR |

(v) Swifa= wwr o WH UH & fHer & ues g uvse 99 9: 9% F < € o
=ifed |

(vi) vt & et sifufram & o o faeeht o, S Bt ®1

(®) wod fe ¥ @ 91 91 FvF v 99 9 9 A e 1 1%6
(i) T Fe= & St Fert 31 wfe & v |t i

(i) AR fa i fa, vfo S wems s g fifa FSwdfa Fo dmtehdfa smd
o & 25 3w ¢ 39 w2 o, v fa. + weas s §

(i) TF =T Faa o oo o | au vy wEiedl F veed 09 ¥ € | € e i
(iv) TF FEO % YT GRS 1 U 36 FEAT 6 HeEd e qE1 S |

(v) Toawa gFmer 50 @ g F A i T, 9w @ fada & wfess 0 5t 5wt

(vi) TF = fafrg & st s 5t sfayfaat § sgaer == o
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(7) Fr=ifera = sifysam 2 weAi § e Fifw: 1%6
(i) T2 gr wifae e,
(ii) U HEER WH U FE A 6]
(iii) TSR 1 F==1 glie;

(iv) e sfa;

(v) FTRRT HHA;

(vi) snfefgst)
. @y fafma &= @ €7 36% ol @1 3eera Fife 8
. ST R IR H et sremeda ¥ foe, T o arew 1 @ v fafia 8

. SR 91 941 87 3] I gen 99 87 8



